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EXERCISE - 1.1

When a number is added to 37.5% of itself,
the result is 132. Find the number.

g fret T&m | 391 37.5% Sl Se i
132 ¥ el ? Al Wl W

(A) 48 (B) 96

(C) 108 (D) 192

1
If 577% of a number is subtracted from

the number itself, the result is 42, then
find the original number.

afx fret Tem ¥ ¥ Ee 57;% e S

RO 42 W B ¥ A YA HE ¥ k|
(A) 96 (B) 48
(C) 98 (D) 196

If 128 is added to a number then number
1
becomes 577% % of itself. Find the number.

. . . 1
fordlt W ¥ 128 Sied W HEm g @ 577%

B W ® oAl W W A

(A) 112 (B) 200

(C) 224 (D) 124

If 1240 is added to a number then number

becomes 444%% of itself. Find the original

number.

g freh e ¥ 1240 Ser W™ @ 98 WA A
4445% 7 ST ¥ @ dem T

(A) 360 (B) 180

(C) 240 (D) 320

A man donates 4% of his income in charity
and deposits 10% of the rest in the bank.
If he still has 21600 rupees left with him,

then find his income.

T oafe SO 3 T 4% T H H HI B U9
FHT 10% SF § SHI L 21 AR 3TH qE e of
21,600 I9 B, A IR ™ FA B

(A) 35,000 € (B) 25,000 €

(C) 50,000 € (D) 20,000 €=
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A man had a wire of a certain length.10%
of the wire gets stolen, 70% of the
remaining wire is sold by him. If he is still
left with 1620 meter long wire then find

the original length of wire-

T Afd & I8 Hf¥¥q = w1 ar oM 10% R’
=R B S € SR WW HT 70% SHh GRS e
S € SEe U ettt 1620 . wwn 9R s
B W AR B A A FAT T2

(A) 5000 X (B) 6000 HeX

(C) 5500 #rexX (D) 6500 HreX

2
The population of a city increases by 165%

1
in the first year, decreases by 375% in

1
second year and again increases by 57; %

in the third year. Find the present
population of the city if the total population
after three years will be 5,30,000.

2
T e e wd i 16 % el T T

1
i 87 % e # ot dw w ST %

? W W IR H A TEA @ e Ak 3 o
€ I W H G 530,000 B STCH?

(A) 1,44,000 (B) 2,84,000

(C) 2,88,000 (D) 2,68,000

A man spent 5% of his income on transport,
20% of the remaining on food and further
donates Rs. 120. If he is left with Rs. 1400,
find his income.

TH Afed AT o w1 5 gfavm fRE W owd
FHE T AT H 20 HlawE WA W @H w2
120 ®. g ot a1 21 Afs s@ uE e ot 1400
® U9 B A ST I FA BN

(A) 1,500 F7 (B) 2,000 7
(C) 2,500 F7 (D) 3,000 &7
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In a library, 20% of the books are in Hindi,

50% of the remaining are in English and
30% of the remaining are in French. The
remaining 6300 are Mathematics books.
Find the total number of books in the
library.

Th Y § 20 ufavm feam &l wr @1 9w
1 50 W foRae Tfer 1 SR 9w w1 30 Wfen
fraa %= &1 T ARk 99 6300 fRae Ao wT @
@ gk H wel A )

(A) 22,000 (B) 23,000

(C) 22,500 (D) 23,500

A manufacturer sold his goods to a
wholesaler at a profit of 25% . The
wholesaler sold it to a retailer at 20% profit.
The retailer further sold it to a customer
at a profit of 28%. Find the cost price of the
goods for the manufacturer if the customer
purchased it at Rs. 9600.

TF IARE FHl oih AW & T =g 25
T ® 9 W Sud © SR o AU el
SO 1 20 Jiae@ o9 WSl € SR HEat
R TEk k1 28 UAwd ® N W S=al € @t
S % fod 39 9% i W god @ Enn afk
TEFR ITEE 9600 T A 7?2

(A) 2,500 (B) 3,000

(C) 3,500 (D) 5,000

When the cost of tickets is decreased by
10% at a theatre, the sale of tickets there

1
increases by 577%. Find the percentage

change in the income of the theatre.

1
s o % fefere = fast 57;% T3 S

2 99 fefre =) #ima 10 yfova 9 &2 S @ a
ITHRT A fhad % W A T SR

3 2
(A) 42—-% B) 42-%
7 7

2 3
(C) 42-% (D) 41-%

7 7
Mr. Girdhar spends 50% of his monthly
income on household items. Of the
remaining amount, he spends 50% on
transport, 25% on entertainment and 10%
on sports. He is still left with Rs. 900. What
is Mr. Girdhar's monthly income?

Percentage | Ufaeraar
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FW@ T U H 50 Ufav@ @E AR W, 25 A
TARSE W, 10 9w Bl | @9 &@ & SIK amht
900 T H! a=9d W W T A HuA R w1 ofdw

3 H@ W7
(A) 12,000 €= (B) 14,000 9
(C) 16,000 &1 (D) 18,000 &9

Mr. Murli spends 20% of his monthly
income on food and 15% on his children's
education. 40% of the remaining amount
is spent on entertainment and transport
combined and 30% is spent on medical
expenses. He is left with Rs. 8,775 after all
these expenditures. What is Mr. Murli's
monthly income?

ot AT AT 20% S WISH W 15% F=dl Hl
foren W SR WY T 40% TARSH T A W AR
30% TAEA | @Y F ¢ AR T8 8775 T. BT a9
FW B A SR AIGE AE AW HAL
(A) 45,000 T (B) 55,000 9
(C) 65,000 T (D) 75,000 9
In a fresh watermelon, weighing 20 kgs,
the water quantity is 96%. After 5 days,
the water quantity reduces to 95% due to

evaporation. How much does the
watermelon weigh now?

20 fFU. & TH d W H 96 wiaw Ut ©
5 fefl & A] ATl & HROT RES H Ul R
AT 95 Yfaed W W ¥ A o S k1 aeH
e 22

(A) 8 fem. (B) 12 fem.

(C) 14 T (D) 16 fom.

A fresh fruit contains 68% water and a dry
fruit contains 20% water. How many kgs of dry
fruits can be made from 75 kgs of fresh fruits?
e el § 68 Wiaw W ® SR g@ wel H 20
yfge oAt ® Al 75 TR de well @ fRa gw
A S W TERd 72

(A) 10 fem. (B) 20 ferm.

(C) 30 fewm. (D) 40 ferm.

A solution of salt and water contains 5%
salt. If 20 litres of water evaporates, the
solution now has 15% salt. Find the volume
of the initial solution.

T R U H TH U W 5 Gav e © SN
20 oftex 9 aftad @ STar ® e 15 wiaer
o9 S Al YRFAE Sl R OAET S| 2
(A) 157 (B) 20 @R

(C) 25 (D) 30 R
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A 12-litre mixture of acid and water contains
30% acid. How much litre of water should be
withdrawn to make the acid quantity to be 40%?

12 offR wfge @R ot & fagm § 30 wiaem wfae
21 ufge ®i 40 wiae s % forg fore oftet ot
frepTer B2

(A) 3.5TX (B) 3@l

(C) 2.57X (D) 4 iR

A man spends 60% of his income and saves
the rest. If his income increases by 15%

and expenditure increases by 15%, find
the percentage change in his savings.

T AfR FE E B 60 FvE T w7 A
IHT A@ 15 awa S 4 WE R wd ot 15%
e fen S Sue! g=d fRa wfae @ Smee?
(A) 15% B) 20%

(C) 5% (D) 10%

A man spends 75% of his income. If his
income is increased by 20% and

expenditure is increased by 10%, find the
percentage change in his savings.

T AfE AT TF T 75 W T ww ® Al
IHHT A 20 WK =g € W AR @H 10 giaw
g1 fean S @t 39! a9a fead wfaera ag S ?
(A) 25% B) 75%

(C) S50% (D) 10%

A man spends Rs. 5700 from his income of
Rs. 8550. If his income and expenditure
are increased by 19% and 13% respectively,
find the percentage change in his savings.
T AR 8550 & ™ H W 5700 T AT HI 7
Ifg o qen =g ® 19 wfaw iR 13 wfawer i
gfg & @ 9=a § fear ufgea 9Radw g
(A) 30% B) 31%

(C) 32% (D) 33%

A man spends Rs. 9000 from his income of
Rs. 13,500. If his income and expenditure
are increased by 13% and 9% respectively,
find the percentage change in his savings.
T AR 13500 T HT S OCH " 9000 T HI q=d
F ¢ A% o IR = H 13 wfder sk 9 wfer
# gig & @ Fua ° fRat wfawa uRads gem?
(A) 21% B) 22%

(C) 23% D) 20%

In an election between two candidates, one
candidate gets 84% of the votes and he wins
by a margin of 476 votes. Find the total
number of valid votes.
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T SHEERl ® d° TF gAE § TF SHIGAR Wi
84 gfawr aie W B € 3R 9% 476 A ¥ S
S ® dl difen faw ¥ we fea ded @2

(A) 600 (B) 700

(C) 1400 (D) 2100

In an election between two candidates, one
candidate gets 55% of the total valid votes,
while 20% of the votes were declared
invalid. If the total number of votes was

7500, find the total number of votes
obtained by the other candidate.

T SO & W TH g W SEEAR Wi oY
diE T 55 WivE Wie WW B € 20 Wiaval die
Iy Wi w53 # Ak s 9 7500 4R
B d TR SHERaR # R g fiel?

(A) 3000 (B) 2300

(C) 2400 (D) 2700

In an election, 10% of the voters did not

1
vote and 115% of the votes were declared

invalid; the winner got 75% of the total valid
votes. If he won by 2000 votes, then find
the total number of voters.

fredt g # 10 yfae@ IHgER de @l e
1159 e s wifm a o ¥ s s

o JeAelt R A wdl 1 75 ioe die Wi g
& R = 2000 o @ Sid S i dofiehd
TagIsT w1 G&A F B2

(A) 5500 (B) 5000

(C) 6000 (D) 6500

In an election between two candidates, 20%
of the voters did not cast their votes, and of
the rest, 600 votes were declared invalid. The

winner got 75% of the valid votes and won by
1500 votes. Find the total number of voters.

ot 5@ ¥ 2 SEgER ® 20 wiawk HagEeh A
a7t e fSEH | 600 die say wiftE W
S ¢ 3R Sfad ol TeIrh i 75 Siav ae
B ® SR @ 1500 9 ¥ Sita S @ @ usiend
HasraisTt & & F ern?

(A) 4000 (B) 5000

(C) 5500 (D) 4500

Percentage | Ufaeraar



—f SAFALTA CLASS

An Initiative by 3R ISIICT

The entry fee for a musical concert was I 1.
Later it was reduced by 20% which increased
the net collection of amount by 40%. The
increase in the number of visitors is:

T Wiid TARE &% foaT wom e 219 918 § 98 20%
w1 fen wn fSmg ardfas e § 40% w1 dfs
B @ whewl ® "en # gfg fRa i gni?

(A) 72%% (B) 74%%

1
(C) 75% (D) 763%

If a number is increased by 20% and the
resulting number is again increased by 20%,
what percent is the total increase.

afE TH B 20% TR S ¢ SN 9w wEen
20% WgE S €, A wA ghg w1 Aaw | wl
(A) 48% (B) 44%

(C) 41% (D) 40%

The price of an article was increased by r%.
later the new price was decreased by r%. If
the latest price was ¥ 1, then the original
price was:

fFdt a5 & g r% # gfg W& M aR
TC A | [: 1% HI HH B A T AR 3T T
F U T 7, A T wT ATR oI T qr?

1-r’

) 1 B
o7 ( 10000 J
© oo D) {10000-+

If the length of the sides of a square are
increased by 40%, find the percentage
change in its area.

TR fRel & &1 o1 40% @1 I S a@ TR
GRS W YA TS

(A) 96% (B) 94%

(C) 98% (D) 97%

If radius of a circle is increased by 5%, then
the increase in its area is:

afs ga w1 5o 5% a% S AW A TS SFHA

¥ feadt gfg eri?
(A) 10.25% (B) 5.75%
(C) 10% (D) 5%

The percentage increase in the surface area
of a cube, when each side is doubled is:

9 TH OF HI TS I IAE F G AW A TR
g &ewd | whav gfs €

(A) 200% (B) 300%

(C) 150% (D) 50%

Percentage | Ufaeraar
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The cost of a machine is ¥ 6250. If it
decreases by 10% during the first year, 20%
during the second year and 30% during the
third year. What will be the cost of the
machine after 3 years?

T WA H T 36250 T TeA 9§ W THH Hoo
10% T a9 H 20% deN AW a9 H 30% T T,
@3 ad ® AR W H oA F B

(A) 1000 (B) 3150

(C) 947.10 (D) 800

The red blood cells in a blood sample grows
by 10% per hour in first two hours, decreases
by 10% in next one hour, remains constant
in next one hour and again increases by 5%
per hour in next two hours. If the original
count of the red blood cells in the sample is
40,000, find the approximate red blood cell
count at the end of 6 hours.

T Se H el K ORI TEd & S §10%
wia 5w W @ "l §, T ot WS W 10% sl
T @I oTel He ¥ feer @l ® @R TR ot | s
¥ 5% 9fa ¥ # R 4 q@d T AR gor: A
HIVTHTT 40000 o 1 6 ¥ & oK AT WA HILTHRA
F AAEIG T& T HI

(A) 40000 (B) 45025

(C) 48025 (D) 50025

A spider climbs 62.5% of a pole in the 1St
hour and 12.5% of the rest in 2* hour. Find

the distance travelled by the spider in the
2nd hour, if the total height of the pole is
192 meters.

TH AHSl | U W TH U B 62.5% SAE
wEdl € 3R o e W aE WY HuE &1 12.5%
T S B AR o H HEE 192 HF df g e
¥ 9 9% T i)

(A) 3 m B) S m

(C) 7 m (D) 9 m

A number is decreased by 25% and then
increased by 25%. The number so obtained
is 8 less than the original number. What
was the original number?

Tk & FI TES 25% Al ST § SR R 25%
g1 fea S ¥ T9 YRR U@ wE, W e 9
8 FH U BN T A WA F efi?

(A) 128 B) 144

(C) 136 (D) 114

Maths »y Bhagwati Prasad Sir



12.

13.

14.

15.

the original number, it is to be reduced by?
TH G Iy d@l fea T ey wen ww
w0 & fau 3@ fean ufae@ s smm?

A 10x o B 100x
(¢ —_ /0

®) 10+x (B) 100+x
o)
(C) x% ®) To0+x "

In a class, 60% of the students pass in Hindi
and 45% pass in Sanskrit. If 25% of them
pass in both subjects, what percentage of the
students fail in both the subjects?

T HE H 60% BH 63 H TFA A 45% B HEHA
¥ gl B €1 A 3 9 25% = SH fawE § awa
¥, @ <F fawal | foree wfte ®e eEwd gw?

(A) 80% B) 75%
(C) 20% (D) 25%
In an examination 70% of the candidates
passed in English, 80% passed in

Mathematics ,10% failed in both the subjects.
If 144 candidates passed in both, the total
number of candidates were:

T ThE § 70% WhEnt sust |, 80% iRt Ao
" gwd B §1 10% Wit S famat o s g
g1 Ak 144 vt <A fawel § e B9 € a
g &t B g F oh?

(A) 125 (B) 200

(C) 240 (D) 375

In an examination, 35% of the students failed
in one subject, 42% failed in another subject
and 15% failed in both subjects. Find the
number of students who failed only in a single
subject, not both, if total number of students

appearing in the examination is 2500.

TE qhEm | 35% hhErt s fawm § dem 42%
yfgarft g fowa o orqAivt gu Safw 15% A
fooai @ ergeiol gu Afe 2500 widawht ohem o
whe g @ fead ufmart fedt e wdean #
sl gu dferd I H AR

(A) 1325 (B) 1175

(C) 2125 (D) None

In an examination, a candidate must secure
40% marks to pass. A candidate, who gets

220 marks, fails by 20 marks. Find the
maximum marks for the examination.

T when ¥ SOl g % fau 40% i etfrer €
T iR w220 FE W BW € SR o 20 I
Y IEEA B S 2, 9 el | siferhad ik TR o2
(A) 1200 (B) 300
(C) 600 (D) 450
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A candidate secured 30% marks in an
examination and failed by 6 marks. Another
secured 40% marks and got 6 marks more than
the pass marks. The maximum marks are:
T BH K TH Wl H 30% 3k I gY AR o7
6 STl ¥ STHES B TAT A TW BH F 40% K
g gY 3W Ivne ¥ 6 o SAfue ww gy
ek 3k F 7?2

(A) 150 (B) 120

(C) 100 (D) 180

A man spends 60% of his income. If his
income is increased by 15% and his
expenditure is increased by 15%, find the
percentage change in his saving.

Tk SARH ST 3T T 60% T HIdl T 3R STH!
AA 15% 9§ WU AR SHHT =l 15% 9§ WE
STHT g9 H fhad iR a=ee e

(A) 20% (B) 18%

(C) 15% (D) 16%

A man spends 75% of his income. If his
income is increased by 20% and expenditure
is increased by 10%, find the percentage
change in the saving.

Tk S ST 3T T 75% T B T SR ITH!
AE 20% &G WY AR SHFT @ei 10% §F WC al
FEd W F Hh TS

(A) 35% (B) 50%

(C) 45% (D) 55%

The monthly income of Shivam Sudhir was
¥ 13,500 and his monthly expenditure was X
9,000. Next year his income increased by
14% and his expenditure increased by 7%.
The percentage increase in his saving was:

foem gt &1 wifgs aa 13,500 % & R SHH
s @9 9,000 T 21 ST T SHRT oA 14% 9
S € R SR @ 7% 98 Sl €, Al Skl wed
¥ yfoea gfg s &2

(A) 7% B) 21%

(C) 28% (D) 35%

Ashok Ji spends 75% of his income and saves
the rest. His income is increased by 25% and
he increases his expenditure by 10%. Then
the increase in saving (in percentage) is:

e S YU A H 75% @ HW B aA W
MY 1 =G H T ST AG 25% 9 TN Al I
AT @E & W 10% T o, @ I F=a H fowa

gfqed w1 9fg 882
(A) 50% (B) 52%
(C) 45% (D) 70%

Percentage | Ufaeraar
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1.

2 candidates participated in an election. 20%
of the votes are declared invalid and the
winner gets 70% of the valid votes and wins
by 4800 votes. Find the total number of votes
and the number of valid votes.

TH IAE W 2 SHERERl J An ferm 20% A oy
Hiftd 81 T SR S aTel SEfRaR du wdl R 70%
W I ® SR 4800 HAl W Sfta W 21 e Hal
H @ N Hel d9¥ WAl 1 g@N F@ H

(A) 15000, 12000 (B) 12000, 15000

(C) 28000, 22000 (D) 10000, 12000

2 candidates participated in an election. 20%

. 1 [0) . .
people did not vote. 125 70 votes were invalid

and the winner got 60% of the valid votes
and won by 2800 votes. Find the total number
of votes.

TH g9E H T IERa 4 Wm feEm 20% & A

T 7l fem 12%% wq 9y feral 3R Sfem et

1 99 Tl HT 60% W g1 AR 2800 Wl § et
TN A Tl HI GEm T HA

(A) 28000 (B) 10000

(C) 20000 (D) 12000

Two numbers are respectively 15% and 84%
more than a third number, then what
percent of second number is the first

number?
T AT wEY: fmd dEd "' 9 15% qen 84%
afesr €, @ veell, SEG weM w1 fhe wiaem @7

(A) 64%% (B) 65%%

C 6310/ D 6210/
— /0 — /0

(€) 633 (D) 625

Two numbers are respectively 60% and 20%
more than a third number, then what
percent of first number is the second

number?

T FEAT wEY: fRE dEE F@m ¥ 60% T= 20%
afu 8, @ T, weelt e 1 fha wfawa @2
(A) 75% B) 65%

(C) 80% (D) 70%

Percentage | Ufaeraar

S. Alok multiplies a number by 3/5 instead of

5/3, what is the percentage error in his
calculation?

el 3 foRelt W@l 5/3 ® TH W 3/5 | TN
2 fen @ 3mwt M # fead gfem Fqfe w2
(A) 34% (B) 44%

(C) 54% (D) 64%

Kishor multiplies a number by 7/4 instead
of 4/7, what is the percentage error in his
calculation?

foreiR 3 fodt = &t 4/7 & WH W 7/4 ¥ O
w1 fe @ swRt o o feadt whiww g R

1 1
200—% 206—%
(A) 200 % B) 206, %

(C) 200% (D) 201%
If the numerator of a fraction is increased

by 20% and the denominator is reduced by
5%, then the fraction becomes 5/2. What is

the original fraction?

afg fwet fa=1 =1 3191 20% Q1 T ST a2 & 5%
w fen s, St fe= 52w S ®, dF ardfas
o= @ 22

2 L3
A 19 B g
95 s
© s P 55

If the numerator of a fraction is increased
by 40% and the denominator is increased by
80%, then the new fraction is what part of

the original fraction?

T 9= o af T ° 40% wT ghE T W H 80%
#1 gfg w A S @ T 99, ga o= w= feaw
T 22

1 7
(A) 5 (B) 9
7 7
(©) 18 (D) 15

Maths »y Bhagwati Prasad Sir
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10.

11.

12.

When the income of a man increases by Rs
5000, the tax rate reduces from 21% to 18%.
While 50% income is tax free in both the
cases. Find the starting income if he has

paid the same tax in both the situations.
S UH SAEH ®I A 5000 T Sl € al o
T 20% ¥ 18% B S T SHfw = gRfeerfaar o
50% 3T T g €1 YEAM HI T T HA IR
ST A g § wEE o feam s

(A) ¥ 28000 (B) ¥ 26000

(C) ¥ 30000 (D) X 32000

When a man's income increases by Rs 6000,
the tax rate reduces from 36% to 27%. While
50% income is tax free in both the
circumstances. Find the starting income if

he paid the same tax in both the situations.
e UH STEH HI A 6000 T S € Al o
T 36% W 27% © W B1 SEfk qHl qffeefmEr o
50% o9 X A T YEIE HI A M HY IR
I I uRfearfe o wmm o wx fem

(A) T 18000 (B) ¥ 16000

(C) % 20000 (D) % 22000

Neha's weight is 140% of Tina's weight.
Meena's weight is 90% of Leena's weight.
Leena's weight is twice the weight of Tina.
Accordingly, if Neha's weight is x % of
Meena's weight, then what is the value of x?
& HT IS I & A5 KT 140% S| HAT HT A9,
WA &% a9 BT 90% 1 A BT FSH, TN F doH
H1 M T TGIER A el F1 oS, HAT & aoH
F x% B, A x K AR w7

2 7
(a) 645 B 775
(C) 128; (D) 90

Two numbers are in the ratio 2:3, if 20 is
added to 20% of the smaller number, then
the number obtained is 25 more than 10%
of the larger number, then find the smaller

number.

T WEAW 2:3 & UM W €, AR B W@ B 20%
¥ 20 S W ® @ W@ €@, 9€ @l & 10%
¥ 25 wfyw €, A B W W W

(A) 100 (B) 160

(C) 180 (D) 200

Maths »y Bhagwati Prasad Sir
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A number is divided into two parts such that
80% of the first part is 3 more than 60% of
the second part and 80% of the second part
is 6 more than 90% of the first part, what is
the number?

Tk HEA I A 9 H T YR dfer S 2 fE red
T T 80%, T AW & 60% T 3 Afek T 3R TW
9T KT 80% TEA W & 90% ¥ 6 Afuw T, o T
1 77

(A) 125 (B) 130

(C) 135 (D) 145

In an examination, A got 25% marks more

than B, B got 10% less marks than C and C
got 25% more marks than D. If D got 320

out of 500, then how many marks did A get?
TH T0&T § A F1 B ¥ 25% % AfUE W< gU B
%I C @ 10% %Y 3k W gL AN C &I D F 25%
3feh sifye W gW AR D & 500 F ¥ 320 IFF
g U B, AW A HI fRaH ok W gw?

(A) 405 (B) 450

(C) 360 (D) 400

In an examination in which the maximum
marks was 500, A got 10% less marks than
B and B got 25% more marks than C and C

got 20% less marks than D. Accordingly, if A
got 360 marks, then what percentage of

marks of the maximum marks D gets?

T Then | fEd guie 500 9, A 1 B &I sT8aT
10% ¥ i foaell SHt & B & C &1 oTU&T 25%
sAferr 3t ot iR C 1 D 1 798N 20% FH 3F
el T_gER, afs A & 360 3% Tt &1, @ D @i
QUi & forad wfaem sfe o< gw?

(A) 90% B) 80%

(C) 50% (D) 60%

Two students appear in an exam. If a student

gets 9 marks more than the other one and
his marks are 56% of the sum of the marks

of both, then what are their marks?

T foenefl e wden & wfre e €1 Tk B & gW
T 9 ofw Ay foed € iR T® ofw I & Fh!
% AN H 56% T, A STk Wik FN &7

(A) 42, 33 (B) 43, 34

(C) 41, 32 (D) 39, 30

Percentage | Ufaeraar
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17. The number of girls in a class is 20% more

18.

than the boys. The total number of students
in the class is 66. If 4 more girls are enrolled
in the class, what will be the ratio of the

number of boys and girls?

TH Hel H TASHA B GO, ASHI W 20% IHE
21 wem H BN F KA TN 66 1 AL FaN H 4
wefRadl 3R o WY @ Wee qul wefwdAl w1 Wl
HT STIIE FT EML

(A)1:2 B) 3:4

C)1:4 D) 3:5

40% of the students in a college were placed
in group A. 75% of the remaining students

were placed in group B and the remaining
12 students were placed in group C. How

many students applied for the groups?

T FiaS d 40% BEI w1 GE A H W@ T AW
TE ® 75% BHEI H e B H W M1 SR I
12 6N & ¥ C # W@ @, q@ FA fhad sl
q o % fau smesa fewa o

(A) 100 (B) 60

(C) 80 (D) 92

Percentage | Ufaeraar

20.

and spends Rs. 350. The price of rice is 20%
of the price of wheat. If the price of wheat is
increased by 20%. Find the percentage
reduction in consumption of rice. If total
expenditure and price of rice is constant.

T URER fa 7 25 fEm wea ik 9 fam Ty
F WIG HIA T SR T FI W 350 % @Y Ll
Bl AEA 1 HITd g kI HIED H 20% Tl R
g H HEA 20% q@ ST A @A HI @Id H
yfaerd & @ FY SR =Ed w1 wmd ferR ©
R wd 350 & W 2

(A) 35% (B) 36%

(C) 34% (D) 38%

The percentage of metals in a mine of lead
ore is 60%. Now the percentage of silver is
3/4% of metals and the rest is lead. If the

mass of ore extracted from this mine is 8000
kg. The mass (in kg) of lead is:

d SR UH @ W 60% ui §l Wiel W
giaeE U ®1 3/4% © SR wW €@ 21 afg @
¥ 8000 fem.. 31k fepten STl ®, @ s@W fea
fe.m. @ gmm?
(A) 4763
(C) 4762

(B) 4764
(D) 4761

Maths »y Bhagwati Prasad Sir



